
motobilt.com | 334-219-2333

MB2186 - Assembly Instructions Windshield Lightbar Bracket Kit for 392 JL / Mojave JT

REV: 

1

MB2186 - WINDSHIELD LIGHTBAR

BRACKET KIT

COMPATIBLE WITH 392 JL WRANGLER / MOJAVE JT GLADIATOR

ASSEMBLY INSTRUCTIONS



MB2186-01

Qty 1

MB2186-02

Qty 1

MB2186-06

Qty 1

MB2186-07

Qty 1

MB2186-09

Qty 1

MB2186-10

Qty 1

MB2186-11

Qty 4

MB2186-12

Qty 4

M6 x 75mm Flanged Button Head

Qty 4

M8 x 30 Flanged Button Head

Qty 4

1/4"-20 x .75" Button Head Screw

Qty 6

1/4"-20 x .75" Carriage Bolt

Qty 8

1/4" Plain Washer

Qty 14

1/4"-20 - Nylon Insert Locknut

Qty 14

motobilt.com | 334-219-2333

MB2186 - Shipping Windshield Lightbar Bracket Kit for 392 JL / Mojave JT

REV: 

2

CONTENTS



motobilt.com | 334-219-2333

MB2186 - Assembly Instructions Windshield Lightbar Bracket Kit for 392 JL / Mojave JT

REV: 

3

M8 x 30 Flanged Button Head

Qty 8

M6 x 75mm Flanged Button Head

Qty 8

MB2186-12

Qty 8

MB2186-11

Qty 8



motobilt.com | 334-219-2333

MB2186 - Assembly Instructions Windshield Lightbar Bracket Kit for 392 JL / Mojave JT

REV: 

4

MB2186-06

MB2186-09

MB2186-10

MB2186-07

MB2186-06

Driver Side

MB2186-07

Passenger Side

1/4"-20 x .75" Carriage Bolt

Qty 8

1/4" Plain Washer

Qty 8

1/4"-20 - Nylon Insert Locknut

Qty 8

SKIP STEP IF NOT  INSTALLING

A LINKABLE LIGHT BAR



motobilt.com | 334-219-2333

MB2186 - Assembly Instructions Windshield Lightbar Bracket Kit for 392 JL / Mojave JT

REV: 

5

INSTALL SUPPORT BAR

 DO NOT TIGHTEN AT THIS TIME

1/4"-20 - Nylon Insert Locknut

Qty 4

1/4" Plain Washer

Qty 4

1/4"-20 x .75" Button Head Screw

Qty 4

SKIP STEP IF NOT  INSTALLING

A LINKABLE LIGHT BAR



motobilt.com | 334-219-2333

MB2186 - Assembly Instructions Windshield Lightbar Bracket Kit for 392 JL / Mojave JT

REV: 

6

1/4" Plain Washer

Qty 4

1/4"-20 - Nylon Insert Locknut

Qty 4

1/4"-20 x .75" Button Head Screw

Qty 4

LINKABLE LIGHT BAR

INSTALLATION



motobilt.com | 334-219-2333

MB2186 - Assembly Instructions Windshield Lightbar Bracket Kit for 392 JL / Mojave JT

REV: 

7

1/4"-20 X .875" Socket Head Screw

Qty 4

1/4" Plain Washer

Qty 4

STANDARD LIGHT BAR

INSTALLATION


